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Instructions to Candidates

1.

The candidate will have to write his seat number/centre of
examination and date of examination along with his/her
signature on the first page of each MCQ answer sheet.
The candidate is supplied with MCQ question paper,
which he will have to complete in given fixed time and
will have to submit the MCQ Answer Sheet to the
block supervisor.

You should not write your name or number in any part

of your Answer Sheet (except specifid space) OR you

should not put any sign whereby you identity can be
made out.

The MCQ Answer Sheet given to you should be submitted

to block supervisor before leaving the examination block.

The exchange of writing material, tools of mathematics

and such similar things with other students is strictly

prohibited.

Up to 30 minutes after distribution of question papers

and in last 10 minutes of the examination time you

will not be allowed to go outside the block under any
circumstances.

If you

(a) Will bring any textbook or any type of writing or
any strip of paper with notes or any other thing in
the examination hall with you during the
examination time. OR

- Talk with other candidate during examination or
try to send message by any means or do any
communication OR will do any type of mal practice
or will attempt for any mal practice. OR

- Will carry your any written answer books or blank
answer book with you while leaving the examination
hall after completion of examination. OR will do
any activity with intention of doing so, you will be
liable to punishment or you will be expelled from
the examination the supervisor has the right to send
immediately the report to the University.

(b) The candidate who will disobey the instructions
given by chief or other supervisor OR will show
rude or inappropriate behaviour in the examination
hall, the supervisor will immediately debar the
candidate from the examination.

(¢) If any candidate does any of the above mentioned
mal practices or as mentioned in the Ord. of
University, the chief supervisor will send the
candidate out of the examination hall.

(d) The chief supervisor will seize the instruments like
mobile telephone or pager if you bring in the hall.

10 minutes before the completion of examination an
indicative bell will ring. You should stop writing at
that time you become ready to submit your answer
books to your block supervisor. You should not leave
your seat until the supervisor does not complete the
collection of all the answer books.

[ Contd...



AL 2 urd s4is 1 ol 30 1 oIl § i usd sHis 31 ¢l 50 2 dRIL 9.

1 % Bad dwdl ag wide d Buadd axg-l EREIDN
A) u.sl B) -5
(C) vl D) 3.4l
2 o -l Sesiell wgsRdl g oA,
INIEY B) &
G ar D) 2us

3 aguelyll (95-10a+15) A (3a+b+2) -l A=

A —Ta+10b+17 B) +7a+10b+17
©) —Ta-100-17 D) 7a-10b+17
4 o A vis BRsl 4l Deaiel yousell 3 AL,
A o B) AR
©€) © D) s

5 19l 1000 YL deel yelud vyl 8 7
A 15 @) 20
©) 30 D) 10

DFF-004-001122 B] 2 [ Contd...



6  (-7) yals v B, ual AvaL -l
A) A4 B) wskis
(C) el yels D) (A 21 (B) ol
7 [—%jv{l RRAHA drd vl £
o 2 5
A S B) 2
o 2 s
©) S D) 2
8  lAnmigl AR AvuL 55 © 7
A = B a
© 3 @) 0.333.....
9 (27)3><(24)6:_
(A) 221 (B) 224
© 2% @) 2%
1
o [V
81
N 2 3
A 3 B) 2
o L 3
©) 3 D) 2

DFF-004-001122 B] 3 [ Contd...



11 A A={a,b,c} s B={1,23}, dl

A 4=B B) 4-~B
© 4zB D) 4enB

12 U={xeN/x<9}, 4={2,3,5}, d (4)'=
@A) {2,3,5} ®B) {4,5,7}

©) {2,7} D) {4,5}

13 <3 44 gHlolAlL Mad yad ©.

A) (AuB)uC:Au(BuC)
B) Au(BmC):(AuB)m(AuC)
©) 4u4=0

D) (AuB)':A'mB'

14 (Va42)(Va-2)-

@ 3 B) 2
© 2 D) 5
15 5.2 _ 16 Clguel-l ald 8.
A 1 ®B) 3
© 4 D) 2
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(A) AYsd B) udlu
©) [gardl D) Al

19  AvaRvlL 7 U o Bigdl p 2 O Adld AV AU 3 A 9 B,

dl PO =
A 12 ®B) -12
© 10 D) o6

20 s VRl MY el SURSRIAL HIU Sl 6 218 89, dl d bRl HIY 8.
A 18 B) 60
©) 72 D) 40
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21  APQR ¥\ ASTUML PQ=ST, QR=TU ¥ Z0=/T 8.

N

A) 10 B) 20
©) 15 D) 30

22 AABCHL ABNAC =

A BC ®) 4]

© 4B D) 4c

B APOR-l ulRBld 30 €, dl ASTU -l wRMBk =

23 adusik uedl gl sl 2uddl MUl Roicts 19iidd g $8 © 7

(A) deL uam B) agn vudv

©) (A 24 B) D) GuAidl s vl gl

24 Ul uds MBI adn 2u@vHL 32al viaxl VIR dAUUHL F9A1M]

| 8 ?
A) 180 B) 260Y
(C) 150 (D) 3600

25  SSuel usiRl [Rad wuul dlal [ Avaiel atisasly yeun v g

58 89 7
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DFF-004-001122 B] 6

[ Contd...



26 (-9)-(-8)=—
A) +1 ®) -1
© o D) +2

27  (-20)x(-10)=—___

A o B) 20

© 10 D) 200
28 (-51)°=—

@A o @) 1

© -s1 D) 51

19 . N
29 SE;L qolya £9.
2
(&) 2g ®) 2
3 4
© 27 D) 2%

30 1ol 100 y{lui 2nadl yelasl qvaiil sedl © 7
A 8 @) 9
C) 10 D) 7

DFF-004-001122 B] 7 [ Contd...



31 % AvUl sHAA s 5 €A, dH-l g sl Hadl vl visHAL 2l
Ha,

A) 4 B

© 6 D) o

32 A x-243, u dl Jb /Al B aAL.
@A 1 @) 0

(C) 243 D) x°

33 (Sa+3b)(5a-2b)=_—____

(A) 254 +5ab +6b° B) 254> —5ab—6b>

©)  25q° —8ab+6b> D) 254> +5ab—6b>
34 1 Hle= e

(A) 100 (B) 1000

(C) 10000 D) 100000
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A={P,0,R, S}, dl 28l 41 Guawel-l v
A 4 B) 8
©) 16 D) 12

AL AHY vl 9,
A 26 it 51 33 it 65
&) 39 34 B) 22 52
. 14 it 27 63 it 69
© 21 18 (D) 42 46
B oag=b=c O, d 45>+ _3abe=

3

A a ®B) 24°

€ 0 O 34°

A A5 U (x-1) B,
A) 3x3—x2+x—3 B) 3x3+3x2+6x+6
C©) X 1xP-x-2 D) 2x° —2x> +2x+1
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[blg €.
(A) Hay B) [(adla
©) qdla D) Agd
N 9 .
40 F:[gjc+32‘-ll C=25 8, dl p—
(A 54 B 22
©) 77 D) 76
41 ARl W Rig p A O U2 PO=7 8. % pe Add —6 S,
dl O Aol Aval A 44 8.
@A -1 ®B) -13
<G -1 D) 11
42 ZpdHeliy p 8. 40ld 5 A p e Udd 3 €1, dl g ddld
Sl
@A 1 @) 11
€ -1 D) -1
DFF-004-001122_B] 10 [ Contd...



43 AABC ) s oe¥8l £ ABD ©. % m/ABD =80° &,

dl mZABC =
A) 500 B) 1100
(C) 80° (D) 100°

44 L/ ABC\ BD Rouws 8. 9 m ABC =100° €A, A\ m/DBC =

A 20° B) 500

(C) 400 (D) 80

45 1120 Uil il 58 A a3 ol yeliqol vyl o 7

A 2 ®) 3

© 7 D) 5

46 7 A4, B i1 10 A, GRS AsusiRs a-sa g A, A,
(A) 1540 a« A, B) 1440 u- Al
(C) 1450 u-t AHl. D) 1540 u« Hler
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47 2% saldl Ysdla sald HIRgd %o %2R 3. 16,00041 vledi d 2R 324l
Ml ugy sy ?

(A) 15,320 3. B) 16,320 3.

(C) 16,300 3. D) 16,350 3.

48 ol HIdR Ul Ssiell eiddl Slesil s o ouygell 2id:SRIAL MY

AL QY 8.
(A) 900 B) 1800
(C) 2700 D) 3609

49  Aguelal 150 +5x2-25 AN (oo~ el =
(A) —x +3x> =25 B) -x -3x°-25

3 .2
©) —x +5x*-25 D) -x -5x"-25

50 (x2 —5)(x2 +3) -

@A) x —2x*-15 ®) x +2x2-15

©) x*-2x?+15 D) x*+2x 415
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ENGLISH VERSION

Instruction : Q. No. 1 to 30 carries 1 mark each and Q. No. 31 to 50 carries

1

2 marks each.

The amount at which a trader buys a product is known as its

(A) Net price (B) Profit

(C) Loss (D) Cost price

If two lines having a common transversal, the
angles are formed.

pair of corresponding

(A) one (B) two

(C) four (D) eight

Addition of polynomials (95-10a+15) and (3a+b+2) is =

(A —T7a+10b+17 B) +7a+10b+17

©) —Ta-10b-17 D) 7a-10b+17

pairs of alternate angles are formed by a transversal of two lines.

(A) Two (B) Four

(C) Six (D) Eight

How many perfect cube numbers are there from 1 to 1000 ?
(A) 15 (B) 20

(C) 30 (D) 10
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6 (-7) is an integer but it is not a number.
(A) rational (B) natural
(C) negative integers (D) (A) and (B)

7 The multiplicative inverse of opposite of [

2
(a) -3 (B)

2
© 3 D)

8 Which is the Rational number ?

(A) = (B)

© 3 D)

A 2% (B)

©) 2% (D)

10 — =
81
2
W 3 ®)
0 D
© 3 (D)
DFF-004-001122_B] 14
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11 If A:{a,b,c} and B:{l,2,3}, then =

(A) 4=B B) 4~B

C) 4=zB D) AeB

12 For universal U:{xeN/x£9} and A:{2,3,5} (A')':—
(A {2.3,5} B) {4.5,7)

©) {27} D) {4.5)

13 represents De Morgan's law.

(A) (AuB)uC:Au(BuC)
(B) Au(BmC):(AuB)m(AuC)

©) 4u44=u

(D) (AuB)':A'mB'

4 (Vae2)(Va-2)-__

A) 3 B) 2

© 2 (D) 5

15 The degree of the polynomial 5x2 —x+6 is

(A) 1 B) 3
€ 4 D) 2
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16 The axes divide the co-ordinate plane into _________ parts.
(A) two (B) five

(C) four (D) six

17 If (2,—2) is a root of 54 _—2hp=f, then =

(A) -40 B) ©
C) 14 (D) 10
18 'If q, then p' is a —__ statement of 'If p, then q'.
(A) combined (B) converse
(C) bi conditional (D) conditional

19 If the numbers corresponding to P and Q are -3 and 9 respectively, then

PQ=__
A) 12 B) -12

(C) 10 D) 6

20 The measure of an angle is two times the measure of its complementary
angle. Then the measure of that angle is

(A) 138 B) 60

€ 72 (D) 40
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21

22

23

24

25

In APOR and ASTU, PQ=S8T, QR=TU and ZQ=/T. If the
perimeter of APQOR is 30, then the perimeter of ASTU 1is

(A) 10 (B) 20

<€ 15 D) 30

In AABC, ABNAC=_____
(A) BC B) {4}

©) 4B D) 4cC

What is the pictorial representation of the information in a circular area?
(A) Column graph (B) Pie graph

(©) (A) and (B) (D) None of the above

In Pie graph, the given information are converted in to degrees on the basis
of how many total degrees ?

(A) 180° (B) 2600

(C) 1509 (D) 3609

What is the numerical value of a number obtained by disregarding the sign
prefixed to the number ?

(A) absolute value (B) positive value

(C) negative value (D) simple wvalue
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26

27

28

29

30

(A) +1 B)
(C) 0 D)
(-20)x(-10)=—____

(A) O B)
(C) 10 (D)
(-51)°=——

(A) O B)
© -51 (D)

Square root of 5£=_
25

2

W) 27 ®)
3

© 23 D)

In 1 to 100, how many perfect squares are found ?

(A) 8 (B)

(€ 10 (D)

DFF-004-001122 B] 18
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200
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31 If digit at unit place of a number is 5 then will be the digit at

unit place of cube of that number.
(A) 4 ®B) 5

(C) o D) 0

1 _1
32 If x=243, then find the value of xé X X A

A) 1 B) 0

(C) 243 D) x

33 (Sa+3b)(5a-2b)=—___
(A)  25a% +5ab+6b°
B) 25a° —5ab—6b*
(C) 254 —8ab+6h°

(D) 254> +5ab—6h>

3 1 md= litre.
(A) 100 (B) 1000
(C) 10000 (D) 100000
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35

36

37

38

A:{P,Q,R,S}, then the number of subsets of A is

(A) 4 B) 8

(C) 16 D) 12

are equivalent rational numbers.

N 2608 o 336
(A) 35 and 37 (B) 55 and o
o M2 o 86
© 57 and 77 (D) 57 and o

If a=b=c, then 4’4 p° +¢° —3abe=

3

(A) a B) 24°

€ 0 O®) 34°

(x-1) is a factor of

(A) 3% —x? +x-3
(B) 3x3 +3x2 +6x+6
©) Caxtox-2

D) 2x° —2x +2x+1

DFF-004-001122 B] 20
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39

40

41

42

For x=3,y=4,P=-3 and O =-2, point (x+y,P+Q) lies in the

quadrant.
(A) first (B) second

(C) third (D) fourth

If F:£§jc+327 then g — for ¢ =25
(A) 54 B) 22
© 77 (D) 76

If PQ=7 and the number corresponding to P is -6, then the number

corresponding to Q can be

A -11 B) -13

<€ -1 D) 11

P is the midpoint of 4pg. If A corresponds to 5 and P corresponds to

3, then B corresponds to

A) 1 B) 11

<€ -1 (D) -1
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43

44

45

46

Z ABD is an exterior angle of AABC. If mZABD =80°  then

m/ABC =
(A) 500 (B) 1100
(C) 809 (D) 1009

BD is the bisector of £ ABC . If m/ABC = 100, then ./ DBC =

(A) 200 (B) 500

(C) 40 (D) 809

112, find out the smallest number that can be multiplied to make it a perfect

square.
(A) 2 B) 3
© 7 D) 5

The volume of cylinder with diameter 7 cm and height 10 cmis
3

cm-.
(A) 1540 cm? (B) 1440 cm?
(C) 1450 cm? (D) 1540 m?
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47 By paying 2% brokerage for buying an old scooter for Rs. 16,000 through

a broker, at what amount is the scooter bought ?

(A) 15,320 Res. (B) 16,320 Rs.

(C) 16,300 Res. (D) 16,350 Res.

48 The sum of the measure of both angles in every pair of interior angles

on the same side of the transversal of parallel lines is

(A) 900 (B) 1800

(C) 2709 (D) 3609

49  Substract of polynomials 155 +5x2—25 and 16x° is =
(A) —x +3x> =25 B) —x 3% -25

3 2
(C) —x" +5x"—25 D) ¥’ —s5x2 25

50 (x2 —5)(x2 +3) -

(A) ¥ -2xt-15 (B) X +2xt -15

©) x*-2x*+15 @) x*+2x% 415
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